

3.100  
K8

$$\begin{array}{r}
 z^2 - (1+3i)z + 3i \\
 z^3 - (1+4i)z^2 - (3-4i)z + 3 \quad | \quad z-i \\
 \hline
 z^3 - z^2 i \\
 \hline
 (-1-3i)z^2 - (3-4i)z + 3 \\
 (-1-3i)z^2 + (i+3i)z \\
 \hline
 +3iz + 3 \\
 3iz + 3 \\
 \hline
 =
 \end{array}$$

$z^2 - (1+3i)z + 3i = 0$        $\hookrightarrow$  p10107

$$z_{1,2} = \frac{(1+3i) \pm \sqrt{1+6i-9-12i}}{2} = \frac{(1+3i) \pm \sqrt{-6i-8}}{2}$$

$\sqrt{-6i-8}$        $\hookrightarrow$  p10107       $x+iy$        $|,101$

$$\begin{array}{l}
 x+iy = \sqrt{-6i-8} \\
 x^2 - y^2 + 2xyi = -6i-8 \quad \rightarrow \quad \begin{array}{l} x^2 - y^2 = -8 \\ 2xy = -6 \end{array} \quad \rightarrow \quad x = \frac{-3}{y} \\
 z_{1,2} = \frac{1+3i \pm (1-3i)}{2} = \begin{array}{l} \rightarrow 1 \\ \rightarrow 3i \end{array} \\
 \end{array}$$

$\frac{x}{y}^2 - y^2 = -8$   
 $\begin{array}{l} y = -3 \\ x = 1 \end{array}$   
 $\begin{array}{l} y = 3 \\ x = -1 \end{array}$

3.100  
K9

2 336 5 225